SH2F4B81BRE BEHEFREEFRERAORVUHE

FH2F10A1BRE BLEHTEEEFRERAORUETE

g & B =i AR B | #HEHK M2 B A0 % AQ UN=l HEH

I\ ithig 6,454 6,791 13,245 5,460 2% |RAMEAN 2& |RABA| 26 |RABEA 2& |RABEA
AFNHbig 3,156 3,293 6,449 2,207 I\ ithig 6,402 112 6,760 87 13,162 199 5,436 156
B &bl 5318 5,556 10,874 3,983 Kfihigk 3,158 46 3,278 12 6,436 58 2,232 58
=B 1,484 1,564 3,048 1,098 B S 5272 67 5,528 79 10,800 146 3,982 138
K ilfi Hhig 1,956 2,019 3,975 1,372 = B ihig 1,491 5 1,562 17 3,053 22 1,109 21
B Fithis 792 820 1,612 559 Kt Hhig 1,939 15 2,000 39 3,939 54 1,362 44
15 ihis 806 873 1,679 705 B £ ih i 781 0 810 7 1,591 7 555 7
B EH2HE 19,966 20,916 40,882 15,384 15 ihig 802 16 860 45 1,662 61 698 58
MEmLHE 19,845 261 20,798 286 40,643 547 15,374 482

i (R A k) A 29 1 A 29 A3 A 58 A2 A 13 A3

HEREXSBRAQFNAEAERZSD.
Bt =i =1 HE
M AR (H2H) 276 291 567 506 22 10A1BHE BEHEREFEBRAORUHEE(BFEADH)

g B ZH | A0 B | HER

I\ ihig 6,290 6,673 12,963 5,280
AKFxhig 3,112 3,266 6,378 2,174

B Sithig 5,205 5,449 10,654 3,844
= B b g 1,486 1,545 3,031 1,088
Klfi high 1,924 1,961 3,885 1,318
BA = Bhigk 781 803 1,584 548
1 5 ih g 786 815 1,601 640
MEmLHE 19584 [ 20512 40,096 | 14,892
¥E (R A L) A 30 A 26 A56]  A10




